E'Z ﬁ S=1/500

PElA—/N—L 4 A=870m2

MIER L=167.0m
L=83.0m W=7.1m A=593. 0m2

L=84.0m W=3.3m A=277.0m?2

e

IR
RIS
S eI eless

OB eSS, ¥
I
OO et e e ettt e SO R AR

QRARKIHXRRR
R
ey

3D

KN &)

|
|

f / AEHE K
L=71 wW:=85

5T 1681 e 188 A

ZEME $=1/50

®ET

REL REGERII—BEFRI7ILE (13) HEDHRZE 2.30(t/m3) 3

7100

3000

3000 . 800
Fvoa—F PKA Y
(== SIL=l 9
e ETRImE

300,

B3 - H3mILE £

FFﬁWAAAAAAJW — FLAAAAAATrﬁq R6EL BMAEEHR
WEMETE (BLTHED)
BRAE | (3)BMRES
THEF | FRTTHSLE
BEE | TEE - SEREE - #EE

"R = mEEs | | /1
ais
SRER | EARSRLEES EHID




